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• =1=    /p=(/52)/55= I0'1A. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

© 2015 McGraw-Hill Education. All rights reserved.                     Ch. 2-Problem solutions -Page 22 of 59



9·] i  

o' sl, 1.53mu,Te-(2-8.)/2=  I.5%h. 
 

l 
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]229]  [4k]. As»«eQ,0-=FA,0»d cu-k. Ve,Va,= 
@)           n                  5-07-43V. 170wig,,bane croon»ho, 
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✓                Is    ·1%
 Va=  2.uV=lee1,- Rll= 

n a     "--'   •-~ ~I   _   12-,S. /4. ?+0,•7=

I.5nA, e-2u-43-.8           • 
·4,CZ-.·2            2           =- 

'            
u (o.=> sD), Vecz

 
(3.4+07)-93= 454/(0<V> s0). Geidl 
0,-0(1.21%A, 3.84), 0a>0.(1.58        570)• 

 

(%)          ?         karc@st,  Q7A, al ck»ck. 
Ie    Vet-ca= 8-07-  7.3/,7,0.3>// 5=

 

1a""±,, "   1»,-v»-1.+al=n 
We=Va+7= 8.1V1(7-70)/3= 

 

 

0-0(1.5A,08V),  FA.   kcl 

Jr-1,-(1,)- 481-(53+115)-  1.38%A.  F/en,£ 

2/1w= 15/18=.I  = 0=t,al 0-(1-53%4, 0.1V). 
 
 
 
 
 
 
 
 

mailto:karc@st


 
 
 
 
 
 

© 2015 McGraw-Hill Education. All rights reserved.                    Ch. 2-Problem solutions -Page 23 of 59



»bag, 

[2.3]  @)1,A]:0    - re-1%+ re2l() 
?            ye.lg, _]_ Na:01,,-4.7¥ 

@                             ?7                                  7     Sn   ?   z  'Ct           " 

z  E,       l  e.,,0-1.85%A
y]      a'    50 

'f       -.       Iv 

 

 

2-I8/   A

15% 5le       %
::r 

er5r=5is-ta
1    geTcp .3lank 

1-70/9 16/,0= 0.0, Vey- 6+320,0- 4./; 

Ve- V+07='l.6 , Rr(12-7.6)/33€ 1.  %. 

(wh:  Wee -(2-138339)-4.34£ 33V>0/=FA. 

Wz(l2-1.3433)-((3-07)< 4/0.W   A. 

() kw )&zoo.doaoa le mud,vek vs 
olds.tog tko                  .ow • Vows, 

Ve       1ssV, Te, is'o7)/=  1%h',  T,= 
l.s+.= 3.%k;  R,-(\2-1.6)/3.4=  127 in1.3k0. 
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~ 

Te 
2.). 

edfo 

.z 

;£; 

7dis, 

~ 

]231]{V,%4)].   koms 00- FA,nu Reh. 

()                       @                        Tei} Pa Pl.Lsz,we hae ,b8kl, 
0:     4%    Ve-Ve -%+07e  5+0.7- 57/. n: 

98,                 »=(-5/0=0.6mA. ct:

5r"t 
 

9,              7+,=04= 
Ve  Va-0.'7 
j,"

".i"    %we-s1-7;-0. 
Jc-063--035-  0287MA. 

lea-551-35-2.2V>0V F+, Ve,=57-(5-0.)• 
/>>0WA. 18, Qye  0(095A,2.20);  02° 

0(0&A, 

aua,,()                               wti R, evk 
0                72e2 = w 

 

 

Snell,5 nu

1          
et      Vcz

 Pvt 
k1/

1,-
, L~  Ar:1 ::r~.u --

 

r.     0         ±)41                   'D,                     \ 

bi       "  [",,        ,a =al 
ii        Ve2=o7+0)> 

08V >0.IV0A. 

o                 =                  lk=VVc.  oL 
11 "'"J-z-r        .+-:r::4-  "'-  rz .vIif , t,1.. 

-_(-o)-5 ,-09-01V-6.v 
lo             lo                    Io                              ' 

1-..40£-g05-00i,,1v90 

=052A.  Ia=7=1[r. wg, pez) 
hs.it Te <  0.575/co53%A  pl+<5.3/. 
0.1    0>«k. Tu0w», Q-0,(<5.36A,01V),ad 
00(0.53%ah,0.8v). 
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[3h,,,a1.     u,, oh'horpsh.dy. 
Vcc = Rca+Vaz(eos) +ks[g    (@u+@g)cz +V~c(o)  => 
5=22I¢2 +02 Dz2=¢.77 m#. 

le= 1%.in - (v; Vea=%7-07=%.07v= Ve· 

e-47/0- 7.z7¢_ 
7a=5-%.0z)/3o +62.710?=0,3%52A.  /same Q,A. 

Jr= 0.3%%3/o= 3.66A 

Ve;-  V«-le, =5-10X3%%16?4.%V 

Va- +6-07-3.9  V 

el  I = 0.7au± 

6%=•9/0.37=105e 

Ve lo21 -3,9  >0.2 »Q=A. 
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+f r g,"1z 

&.5i] Tm le 
 

let 

0. 

[33  ]      (ln G, {vt, rd scone +A. vu@4,:
 

 

ly= 

 

5-057 
'a    =223« 

ho+IO\ 1

V=  5- 1102.0306>lV; Wa-405V 

T¢, = 100»02.3-0,223  %A 

la - l5-300.2-83\V 
lcer- 8.31-\.05   0=> Q=FA.                      ct: 

hr 0=FA.      ~e             J,..I5-8.3-0'l2a4[A. 

rl_..  ---JV"\--vl½                     '3()~ 101 )(I~~         1/
310 O.'  

Ve=-831+03.46?=  ,5V 
ez=9.g+07-    2V 

5                 Te2la-l00Be  •9%#

Ve=1.%z +7. Vee- 102-l >z0.2 =>=tA. 
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7 

5y 

[]6) sy        Te r>V-Vesco05-0.6 =4/,tlo 

87 zoo ct[(.  long, r 
helar UV  dcotk, Et  oi. FA: 

v%           Dr,- V-0 -sie 

z                           V-,),  o
,
/@ -0a.@o

7
lRc

=5-0.0206%. g,   IO g or, 
7       T

Co         r,-5-{-o026%(w'0:)
 

I W+          The ~$ o nta4lod+Ao>,= 
Vac- Vd (st)-5-0.1  4,a/. 

ow>, soc po.vcs-;-0oghu(on)=3.628v. 

()=s- #-0026% ("@)-  3.'74%V 

%%#-+#%-awe"# 
=-%-0o%  $ a-.-8@;a]    =-&      W. 

6                     Vo             ,-0.708       lo-V 
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[»e        5¥ 

() 

 

 
 

-5-6%-($)es,vs...@•
Re.               80     &010? 

t        ss%%-(%: 
>           +0or  ;( &es 

&)e -5-10 #';; -3roeo(@to"), 

=5-}o- 0.07&.nlc"«ca). p./oo»dials wrb Or: 

%2,-0bee·"#l 

'> ±##- £ r%; nnss-' 
to0,-75%,  gm= n¢gs-g =-l0.7  V/V 
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-5-5 - 

[:s]     1,«A. «;-e,-We,-&e(@e"}8), 
_;    -k&et-(t@/es) 

p(:0j             = s-lo"is- 2es. 

8-###.# 
±                             }             o,c-6'o   -20L,  ol(29 

>                                  '-                              25l¢'            2 5x7" 

00s2(o"ova). 
=5-,±-00sh(to'a)= 3s7  V

 

2s-25 -0052( 

 

) .0%  V
 

a=(6-2)/.s0¢-3.567)=(@v)/(-%1»)=-%.4  V// 

r(v 
3.561 

•50%   --• 
 

o%        7 

0,(/) 
 

5 
 

l 
 

3 

2 
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A 8 @ G 
 

'-( 

L L Co Co kH 

L H Co Sk L 

H 
H 

L 

H 

St 

St 

Go 

5Sot 

L 

L 
 

,                 (                 gs/I\.I 

[ss[@     Ev                
VC?ibis,so owl-{ 
tu con r 0.   [,Aj. 

0<0,0.%   0=-Co. 

r0.V =>Q,= E0¢, 

0<o< 5-0.2=4.8V0=r.
0lo 0 

 

5 
a.     o=.Vs 0=€0%,».l 

z= 48+07+ R< Lg 

- 55+m0·#  f
},7,0gv)    =5.»55V+. 4+++

s    7               r>5.55/0-ch 
 

 
 

e05          -S 
 

(e) %-2.sV=Ur -±'2.5+07+10'1%   )7±345/ 
 

[] 6 
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Co Co L 

Co Co L 
 

 

[       @6 
 
 

A   8  @   % Y 

L U   Co   co   H L 

  H    C  Co   H 

H    L-  Co    Go    H 

H     11      %.t sad   L-

0• [74p1/[=7.%+ 
z,[4,+=44/#\• 

 
 

I 2.41  I                                                 50 
A    3   QR   ~~  Y 

L    L    5l $k  H 
 

L    J   0 Go    L- 

A   L 
 

H    H 
 

 

I   2.42  I 
 

 
 

A 

 
 

gV 
 
 

+3 
 

 
 
 

'le 

 
 

A 3   Q s Y 
L L    b l l-1 l

  ~    Sal o H 

k  L   Co 5 H 

H  H      Co    Co         L
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"l  (@0) 0a-(5-15-0./- 03+»02  (ee 3309). 

1)>  (5-1.5-0.)/0.33- 103a 

1(co»)-  10./50- 020%auA. 

&,< G-08)/0.2o¢ -2on 

SV           3=l-0V>0-stlEb 9m. 
BH6/0-Co  => LE~dank 
prwrg, 7.e Sam.o 

not6s4,   t),o 
 

@-10l  ,ll,3309. 
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j le-  j-·WRll   @. 
%L 

·«, 

' 

[246]  @955: 
 

Re 
 

 
 
 

c:-   #"+ e· .: r- de•

•
·
.    {a+"

·
T
.,- ,r+ _ 3.flr_   ? hr.  w» 

n

Kr+fr          Fi                  ? 

_  
he' R..5,    

per_(,5@r±'r    .t 

i:9 #.s «.-/cl(e·~{i) 

() 2ca,- oo , @,- //8/@u4![)5 in. 

@&e0,ca)  K,= //egte  (T=ode). 
@) w.l tkc lase t «e                  On o «a},>0. 
ha4hrs., (G.>  Kelk./@c. 
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ct&d, 

8 

]2.43]@ 6 dim, R-(+a·/Re.g 5·() 

K-@@ll[+ + (39)] 
 

a.•           h                                                                       If 

-t 

(   ' n-t 
 

 
 
 
 

7 

 

wtd.td sold cbel, 9 tA ck tks BAL. 
Tio,Ts» ,o ask to v%.t ttkens@t, 

wwila «e Jet 1 Rdo»ad R> @l.ply 
a tot ta,o» so.,- gw , cl &Vu, 

-";+ea«r-"ti".d,or-&¢.eta»ch, 
,el tlgythenado - 0eo 

 

Kv=  &+(+,09)83. 

(@) w- I/(260), +r- 2.6l.   Fo ca(aw) «w. gt 

&-(o+)l(7.% + tot0) =10.Gk ( +2·).   F 

0ox(b) augt  (- lol/. = 20% ,,- lo/lo5; 

- 2.00+(+  -")s- 6%(86). Th» i 

ma.A.- hew.ta. (6)!  kewimp» 
noise  tkew vjpd pa« da»»sale~ht,'! 
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,= 

l-" l@ye-(/)1-6, Ve(/)1-V,  «e-@-h= 

1.60l,  wt 9,-o Ta,2=(@0/co= 20A. 
Thea« R,-l0la- 0.2m4,  ASsuwig Ve5(a»)=  051 , 

me la. Ve- (-0.7)53/ 0-(-5.3)/0.2- (8.5@ 
(we @u) al   53/(0.2+0.02)-24kn. 

(2) &- Ilf-l0.3,Veg - 9»24/18+24) 5.NV 
7, lees-V/eow , 

(8/g +  ¢ 

Tc(aonv»0)y-   -5.&-0 ] _  1,7 A 
(                103/100+1,5 

c%a)_   -5(on5)-01      2.3%A 

(05~@5[s +15(00 
 

co)-   @-5.(l.gs)-o"]     27h 
(9810s)/5 +15[cs) 

(t0.3/-±5% eiadds a. Tc). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
© 2015 McGraw-Hill Education. All rights reserved.                     Ch. 2-Problem solutions -Page 39 of 59

mailto:l@ye-
mailto:e-@-h
mailto:@0
mailto:@u
mailto:05~@5
mailto:@-5


.%. 

v                           0.02 

.Fe, 

[s       
@)  Tg=  2»/lo20MA =IR,· 

5v          R,-07/0.02- 35kw(re 3%) 

" #,    g- 204.375l  (e33k 

R?7;   1>,     «a-5-2,11la  (e ls#), 
k   oh'                 2+0.0 

«,#l              ' @(s,be);
 

MA                                }  'C          'E'            B'           (a   ' 
7 

Ve= 07+33(%+ 0.7/3%)=  1.34 V+(30)2p . 

1- ;-(e92).51!z-.-, 
= 22-231%=242-2737/. 54,p 

 
 

IC;  1
2l
j

2
j,

 ,3  
= 5qr, 00020;.AL

 

 

 
 

Ic
• 

 

 

1.6%
l

'fr                                        A 

1.l«A, 2.(7au4.  NetJal!   Mo2cue=v= 
1+1c/» =2.4l, 1V, I10V, al reefs 

iNolak rel 4 N. 
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g%           e 

t-'\/ 

io ) " 

.4 

[s]   (e 1,-3/50 =704,,-9,=07/o= 
-                                                               ms(v  I8).    -  N7 

@      {' 

7.                   3Pu,(-fo7-(3)\/0.o% 
«·tl"  I      3zk ( la). - Te 

R,    43.0% A           
"1127/, ? +- 0 ~ 0 G ✓ '3 , ob t#1 A 

1
·   Re~ 

-5v             fa-(0]/0-0#8n(we 1a). 

@a.-0-8(%+4,)--«-(s+$)= 
Ve=0-Ve - 02.211+  3Is.   @=R-IR,, 

6-le.(e.0)_%-@275i   ,,     p , 
G           7                    T                                                      -8-jg1° 

1c=5   ova -3:7+-#f1 =Te/(n;)
6.

/
) =  •1

/5
 2.auk  Lcf,          - 

-(w,
 t

2
ri
7
o/ 

-27%

mh} %or pt~i-23 Gorda 
ec(%as)-z.an +n(@4/19)-       V, 
le(»)2.8W Vec(as»)-2.2 V. 
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#, 

a, 

[al@)r= re-(3-05)l.=1.0  » 
(9) Ve- T exp(0he/t,)-10 exp(/0)- 1.080 %A 

 

@-Ia  @p(25/26) - 1%1k 

(@) Ve= 0o -2l0=  6806V, 

rag-0+8)/4=(2/4.3)»; 
re=       op(-vs0)- 0.%%ah 

@) Newsot)en.& T(@,) >1(02),»A that 

7/,-7@)-  94#,- znc• 
 

 
 

2s_]      a-(s-00/.- 10%+ 

@) 1a=0\\aA- (wA/o)y22.   2tlule ,4hobo, 

ezoo-60 (818700- 24al > DY, = 2le»V;

@=4%/a- 2/0.4=60 5- 

(') 5-o+18-18
 

 
 
 

- 1&/0.0s= 1560. 

 

@)AV%- 

@ 

(%av)- (so/z3)= 5i.6,  @-546/0.12z

=lN7. 
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?' 

[s]       ( 1,- 2~= Ve=(00aV@ =l»A. 

cy-05al > Vee =7o-1&- %682V 
 

1ca=0%=Ve2 =70o+IR=7/&nl 

:.&=@8-682bs- '72 , 

4-(@-08)/a.s- 8.564  MR. 
 

(8-  luA =>e= Zoo»l,  Va72l-72 %iv. 
he2= Too2- 772%V-(7oor 4·18)Vt1"> 

l(auk.  Ta, slu ve, hon da«led once,  Thao 

le«l-al Jato»! 
 

 

] @) «-(2-=9/= z. ( 2co). 

&z-  (56-07)/2 -2.5  (e  2.4). 

%- 2/6- /(13), ,=0ox1=13k0;  r%> '37%2. 

K=·[+».(@a//o)] =31/+(@cl06/r12.5 Mn. 

(b) A owes 2n V doeneao Vc as %woo, dee&ens 
7%,,  The 2doX», ie sue tat 41%/4----=.5'xl=0 

- O.+0A/V.  At cue vs ]AVe] » cveow»  }t 

Va  awl Ve ,«cc#kip  To 

s'= ,tea, l"el- n.'.le.l="i", s-1uveal.
BL%- 

k
AN,
i
A_ 

#et-3z+. 
lAel     ,\Alee!  -(ye09)r"]Ad 

1xZu             ?5                                     t
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+ 

de 
,%                 7, 

~ 

] 

[s]          vc 
 

lo 
 
 

t     o

2Wl .4to
 

 
 

kuoiiceee 2«  l dovwole otoolovuos0To. 
/lo       1                                                                                            I 

Ei 
 

-,9g9,         -055·  +-  0¢ ?l:0.[   5/1.0 
@.55      ""   @2%        )\"7     "Z.55i'      c•I' 

 

le_I_    g-80%4/V. 
V   125xc%  A 

tt ow«code  v Ve oi.csts V annel oV 

4-%#%a.Ac- 4%a= #'=;$% 
z  AN«c·.   Ao2 4Ne 

[fig]                125M} 

41o-    A-Aa(id' a'as)  '%
{5
.

7 % =  I/.
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27 2• 

g, 

[ass]               to-o 
@)1%7   74is.    73,I+ 1.07%A, 

 

lVg-3713210?=  0.4IV 

Ve -V+ Vee[»)= 0.24l+0.7  =0.    V 

=--1o+7l.07- -.82 V.

M
(

,
"
~-1.0

G
l 

 

z7I 
 

n  )
•   (
\

pr
-

7   440L0    ¢
o
,    

- L44, 1/ 
"2 Rt.

K- 33/3.55-    2;   «. =47//415.5= 4.20W
 

 

32 
3+3.2 

/60).I2 
(235i     Zn2 

--I    vW 
'

e)-V+,=0.+ m,5, ()ob

= 0•      V +(k.57 ml) coot; 
-W+o. =  -•uzv-121(5av) qt; 

=  -4.82V  +(0.%05 V)  o» (e -180); 

e= 0+(.60sv) c (t-180°); 

= 0,lV  + 0, 
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= 
_,e 

[s»] 
 

@  V%%-   2e[-4)--3.12V 
3%+51!

 
 
 
 
 
 
 
 

5\0 

€     s-%//51= 2n 
Ta- Ip    12-0'_     u,    ,A 

%,                   C        ZIk15l2          +a 

' a,~>208k,- 3l0

-aw        @v- %//s//28-25\3, R.= 2/l3-26l0, 

eh --%lo= - 2.9%/0,0I855 -133  L. 

€),-e Re/(e.+)- 18·5+ 21g0/1915  1600. 

,1/( <6ox1o?) 2  J.   le Cc= IO,F. 
 
 

[z@]   ;V,+,a]. :t0-.1c+681z/21+07  > 
e=2.08%n  Ic=2.07%A  }=I/(2.% n), Yr= 

1.5n,1·z  48 M,  R//.=3./48 3.%2 

«- [] Rr+(@a)             8+3.l      z 2n 
"l  jg(@d.)       "+3.@/.6 

oh[:{]e«ft.#4]- «sr
 

«      9" [@a% ne  e.±.•
.'   @%.                        U 0""     @el. 

e(#e-·(#%> it.n. 
#.:-%- #k)(eel&dee)=-(kn .ka)(@ml/)}--znw • 

mailto:@v-
mailto:@a
mailto:@d
mailto:@a%25
mailto:@%25
mailto:@el
mailto:@ml
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T 

w 

wt 

]26]    @) I¢=1auk= la;I>dT0,»A, 
7= Te/((@+9) -(/to) «F; Ve- Ve+RrTs -07+loo/0l 

1•V,«.- l0/091  =  lot   Ml, 3%- 0.9/2%=1/(26.35). 

5M:                     [F 
 
 
 
 
 
 
 

CL:     @-ve                  4: 0(4.-1)-$, 9e.  ,_, 
@E     %"    %  i      "        Rs     "/    K    %         T? 

%.--s« (t)(t ,'e,)--2eo0a)w(-r) 
 

=-1/3  /V. 

(b) , dodMe, e os/!l t.else»to 50.sER, 

no« 6,kin             ht l: -$ (Re//-),s 

%=-  5[$,-  (ols)yw?- -2s55  w. bee 4• 

huace , Re, w!cd was uncap, Te Aabv, 
# }»« pa&-% on tt heli-} 4s,» e 
ogle icnwaeo. 
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z 

7m7 

10o+/2%               
u, 

k.,(vs.v)@?"              rs F74 /. 

1                  2.63   1                                                                                  [,Au]:    2. «el>s 
lo                          Te-    l0-97   &724 

33+/2.8.2         / 
 

c-/253572= 40% A
0. 

4•.. 
 

'%% 
 

-  1.0  _ 
"i7  75.7 

 

Gr- /2523,8 218 k_

-lo 

-(al/n=3/(f1+(1as6)(3.2/0)]- 1s.9 ln 
 

Kz802kl 

e158     [    l3.g          .g7,)      h2 

@7H3 ( 1+(/527.   "g7 

--n/V 
 

 

[264]       ,_,        lg-o7     ._A          ,                     q5,       • 

(@) -I05,,           jg7l        ,=07/2%= 
0" 

1/(72),  '-'257+.¢ kn. 

«; -(@ool/Rs - 10o/[4.6+1%(s/o.)]-.4w, t.=ol. 

'--.      e     g.      -_lg@el37      _ 

6) &- oa + Isa//«, - oo+[sol/31+  {[$,)] 
= 88.  C>   \/(@.a&88702)-  1&F. 

Ve 20F. 

e tie ,th« «> ·hp»t% #:- #,,t;--o« 
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0+101x22                      0" 

vs] @)Mee - ·0ls- 1o,5z- [75//0+15]1=3%.
 

Tc-0o  2-01,0at, w- m,a)-200. 

he-t/fat +o@a]: kn, .z 27  ln

A
7

l- To'hotn?7 =- 
1l.  //

',tell@vu."5;1- son 
> i/(c?«zo)- «5F Ve Cs=I9F. 

65-,kt- -, 4the-! 
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268]      _    ' 
0is            R+ 

(3+0) (1Ko) 

woe n« 0e@$   >>  K_  . 

0.853=             l                    =             LY¢=5l752 
L  _Dk             1+e/00 

(+D)700 

> I¢,/%= 26/5'7  0.5 uh. 
 

 

0.1!&- 
 

,ka't 
 

-  
t•IO'          ,fe

 
 

-'4¢33.2,5]1

(@)         (%+)%o     00      +I   3o 

7(- 150  , Y«= 1551.7=-  775 • 

#ij,ass'ha- 08w  vw. 
T     75ix·zoo 
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• 
z@le #kt,(w)=-.v, kw-c/=2.8 • 
In [-0           1,7,           s 26 
" 7.@+a3''j,jj720, 

05x13.2-  Lb5 nl, w- 80/.·7 = lo•Wl=w 
- 8all[«e{+)(eel,k.} ./f.us+a(Mela)=k 

t-vfitie".]#Morr #- aoae 
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s 

w ,+R c
 

[2n_Jr,-(s-05)/4.-  .3mA,2%n=/%n; 
,=n15/=16  k9;  - 10=  3• 

••    lo     n-    '/75       (0s)al

e= (%.8 »V)o,i
  

 
 

-0,el¢= e/
Ce+(@//.)        0,020+(4.75) 

~
 

l.,Q1
 

-.5)' -IA)te?wb

(sad €}  --[-@e/a 

«,5 9a[11@,300/1)/.]=6 mr- 
 

 
 
 
 
 

[Fl1a-      !$-ta; 

e= Ye =08(2/1.1)-22.8 0; 

m = Yz- 100(26/1.13) =  2.3u 
8 =tr +(0a+)(('el/Ra), (=z+(pa+)(@/ht,) 

&-&el/Re, «e-  £gyW 
Pol  +\ 

Kt   23+10\(10//0)- ('7%  ML 

K- 2.3+  \0  (lo//%70)  1mMc 

&-22s +  4"4;  vn,0.-'//2z0352. 
o  Vo      ev                   Ru          fRe       2000              le0oo 

sR 

0e     ;     er+fe1     23+20¢e    23 +0w00 
 

0.4%5 Vly• 
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2r28¥l0     Y    0'                                                                             / 

[]                    7V 1ww. I=lA, V-%  V. 

=R= GM (ee 4.2M.,5%.) 

We  kootit cefo   4    VV, 

to t au el,z-1 4/V

lo,1o 
 

fer-f= 6.2 • 

wu Lc lmA,t

 

12V nod. efe-(r-0)/I, 
Ke= 11.3-%.2=5.10,5%.

8- e2//(et,)- s.//[6a+0o0)- 2.& • 

C>               '          ,t-5aF.Uk-tuF. 
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> 

[r]  p,  ",{-  .sw (we .w; 
els=10.R= "2,7- 2.5  (we 2.4). 

[9 -            _           240o          =,lc   ./p 
x+@f5     r+(@cc7@>  7Hoo((-227 

cha,'k:±0=28(n 2402). 
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